「乘積」表(三)
利用「乘積」表，展開以下各式(二項式乘以二項式):
	例
	  -(2a+3)(a +6)   

= -[(2a+3)(a +6)] 
= -[2a2+12a+3a+18]

= -[2a2+15a+18]

= -2a2-15a-18 

	×

a
6
2a 
2a2
12a 
3
3a
18



	1. 
	  -(5a+b)(4a+2b)
= -[(5a+b)(         )] 
=

	×

5a 

b


	2. 
	  -(6x +6y)(-x +5y)    
= -[(         )(-x+5y)]
=

	×

-x
5y


	3. 
	  -(k +7h)(9k -h)  
= -[(        )(        )] 
= 

	×



	4. 
	  -(x +2y)(-2x-y)   

= 

	×



	5. 
	  -(7a -6)(4 +7a)

= 

	×



	6. 
	  -(x-4y)(-8x+5y)   
= 

	×



	7. 
	  -(3x-5y)(-x-8y)   

= 

	×



	8. 
	  -(-g +2h)(h +5g)   

= 

	×



	9. 
	  -(-a+3b)(3a-5b)   

= 

	×



	10. 
	  -(-10t+9s)(-8s+5t)   

=

	×



	11. 
	  -(-6p+6q)(-6p-6q)   

= 

	×



	12. 
	  -(-12x-y)(3x-4y)   

=

	×



	13. 
	  -(-x-7y)(-7x-y)   

= 

	×




「乘積」表(三)答案
利用「乘積」表，展開以下各式(二項式乘以二項式):
	例
	  -(2a+3)(a +6)   

= -[(2a+3)(a +6)] 
= -[2a2+12a+3a+18]

= -[2a2+15a+18]

= -2a2-15a-18 

	×

a
6

2a 

2a2
12a 

3

3a
18



	1.
	  -(5a+b)(4a+2b)

= -[(5a+b)(4a+2b)] 
= -[20a2+10ab+4ab+2b2]

= -[20a2+14ab+2b2]

= -20a2-14ab-2b2

	×

4a
2b
5a 

20a2
10ab 

b
4ab
2b2


	2.
	  -(6x +6y)(-x +5y)    

= -[(6x+6y)(-x+5y)]
= -[-6x2+30xy-6xy+30y2]
= -[-6x2+24xy+30y2]
= 6x2-24xy-30y2

	×

-x
5y
6x
-6x2
30xy 

6y
-6xy
30y2


	3.
	  -(k +7h)(9k -h)  

= -[(k+7h)(9k-h)] 
= -[9k2-hk+63hk-7h2]            

= -[9k2+62hk-7h2]
= -9k2-62hk +7h2

	×

9k
-h
k
9k2
-hk 

7h
63hk
-7h2


	4.
	  -(x+2y)(-2x-y)   

= -[(x+2y)(-2x-y)] 
= -[-2x2-xy-4xy-2y2]            

= -[-2x2-5xy-2y2]
= 2x2+5xy+2y2

	×

-2x
- y
x
-2x2
-xy 

2y
-4xy
-2y2


	5.
	  -(7a-6)(4+7a)

= - [(7a-6)(4+7a)] 
= - [28a+49a2-24-42a]            

= - [49a2-14a-24]
= -49a2+14a+24

	×

4
7a
7a
28a
49a2 

-6
-24
-42a


	6.
	  -(x-4y)(-8x+5y)   

= -[(x-4y)(-8x+5y)] 
= -[-8x2+5xy+32xy-20y2]            

= -[-8x2+37xy-20y2]

= 8x2-37xy+20y2

	×

-8x
5y
x
-8x2
5xy 

-4y
32xy
-20y2


	7.
	  -(3x-5y)(-x-8y)   

= -[(3x-5y)(-x-8y)] 
= -[-3x2-24xy+5xy+40y2]            

= -[-3x2-19xy+40y2]
= 3x2+19xy-40y2

	×

-x
-8y
3x
-3x2
-24xy 

-5y
5xy
40y2


	8.
	  -(-g +2h)(h +5g)   

= -[(-g+2h)(h+5g)] 
= -[-gh-5g2+2h2+10gh]            

= -[-5g2+9gh+2h2]
=5g2-9gh-2h2

	×

h
5g
-g
-gh
-5g2 

2h
2h2
10gh


	9.
	  -(-a+3b)(3a-5b)   

= -[(-a+3b) (3a-5b) ]

= -[-3a2+5ab+9ab-15b2]
= -[-3a2+14ab-15b2 ]
= 3a2-14ab+15b2

	×

3a
-5b
-a
-3a2
5ab 

3b
9ab
-15b2


	10.
	  -(-10t+9s)(-8s+5t)   

= -[(-10t+9s)(-8s+5t)]

= -[80st-50t2-72s2+45st]
= -[-50t2+125st-72s2]
= 50t2-125st +72s2

	×

-8s
5t
-10t
80st
-50t2
9s
-72s2
45st


	11.
	  -(-6p+6q)(-6p-6q)   

= -[(-6p+6q)(-6p-6q)]

= -[36p2+36pq-36pq-36q2]
= -[36p2-36q2]
= -36p2+36q2

	×

-6p
-6q
-6p
36p2
36pq 

6q
-36pq
-36q2


	12.
	  -(-12x-y)(3x-4y)   

= -[(-12x-y) (3x-4y)]

= -[-36x2+48xy-3xy+4y2]
= -[-36x2+45xy+4y2]
= 36x2-45xy-4y2

	×

3x
-4y
-12x
-36x2
48xy 

-y
-3xy
4y2


	13.
	  -(-x-7y)(-7x-y)   

= -[(-x-7y)(-7x-y)]

= -[7x2+xy+49xy+7y2]
= -[7x2+50xy+7y2]
= -7x2-50xy-7y2

	×

-7x
-y
-x
7x2
xy
-7y
49xy
7y2



